
Multiplication par 0,1 (I)Trouvez chaque produit.
15 × 0,1 = 24 × 0,1 =
60 × 0,1 = 91 × 0,1 =
14 × 0,1 = 61 × 0,1 =
9 × 0,1 = 97 × 0,1 =
41 × 0,1 = 23 × 0,1 =
79 × 0,1 = 1 × 0,1 =
43 × 0,1 = 90 × 0,1 =
69 × 0,1 = 40 × 0,1 =
53 × 0,1 = 9 × 0,1 =
59 × 0,1 = 19 × 0,1 =
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Multiplication par 0,1 (I) SolutionsTrouvez chaque produit.
15 × 0,1 = 1,5 24 × 0,1 = 2,4
60 × 0,1 = 6 91 × 0,1 = 9,1
14 × 0,1 = 1,4 61 × 0,1 = 6,1
9 × 0,1 = 0,9 97 × 0,1 = 9,7
41 × 0,1 = 4,1 23 × 0,1 = 2,3
79 × 0,1 = 7,9 1 × 0,1 = 0,1
43 × 0,1 = 4,3 90 × 0,1 = 9
69 × 0,1 = 6,9 40 × 0,1 = 4
53 × 0,1 = 5,3 9 × 0,1 = 0,9
59 × 0,1 = 5,9 19 × 0,1 = 1,9
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